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1) At point B, what is the rate of inflation, unemployment rate, and how much inflation do people expect?

Consider the following actions of the Fed and predict what the unemployment rate will be.  In the next three cases (2-4), the Fed follows laissez faire, and people always expect inflation to be about 2%:

2)  The Fed delivers on the expect 2% inflation.

3)  The Fed loosens up the money supply and inflation rises to 5%

4)  The Fed decreases the inflation rate to zero.

5) Fed becomes an activist. People, still accustom to 2% inflation, don't anticipate the Fed's new 6% inflationary policy.

6) After seeing the new 6% inflation, people now expect it.  The Fed maintains the 6% inflation. How successful is monetary policy now?

7) The Fed increases inflation to 10%, but people anticipated the inflation change.  How successful is the Fed’s new higher inflation policy?

8) The Fed says they are going to cut inflation from 10% to 6%.  No one believes them, and the Fed does not cut inflation. How would people view future statements by the Fed?

9) The Fed says they are going to reduce inflation to 6%, no one believes them, but the Fed does reduce inflation.

10) The Fed maintains the 6% inflation rate, and people now expect it.

11)  Assume inflation is running at 2%.  The Fed increases inflation to 6%.  What happens to unemployment if: people don’t expect the increase?  People expect the 6% rate?  People expect 10% inflation?  So what can be said about the effects of the Fed increasing the money supply and inflation?
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